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1. A patient who drank 3‑4 glasses of red wine every evening also had a chronic sinus infection.

He took 4‑6 acetaminophen tablets every day for several months to alleviate his headaches.

He then suffered complete liver failure. The MOST LIKELY reason for this is

A.  acetaminophen inhibits the metabolism of ethanol by alcohol dehydrogenase.

B.  the influenza virus iricr.es the sensitivity of the liver to acetaldehyde toxicity.

C.  acetaminophen treatment causes induction of the hepatic metabolism of ethanol.

D.  chronic ethanol exposure increases the metabolism of acetaminophen to yield hepatotoxic metabolites.

B.  the plasma levels of ethanol are higher in men than women after consumption of an equal amount of ethanol.

2. Which drug is CORRECTLY paired with a mechanism of action?

A. cocaine : inhibition of monoamine oxidase

B. nicotine : blockade of central muscarinic receptors

C. amphetamine: inhibition of catechol‑O‑methyltransferase (COMT)

D. fenfluramine: inhibition of phosphodiesterase

E. caffeine : blockade of adenosine receptors

3.  Which statement concerning the therapy of peptic ulcer disease is TRUE?

A.  Misoprostol is the drug of choice for treating peptic ulcer disease in pregnant women.

B.  Proton pump inhibitors are activated by acidic pH.

C.  H2 receptor inhibitors should never be used in Zollinger‑Ellison syndrome.

D.  Sucralfate should never be taken on an empty stomach because of its direct irritating

      effect on the epithelium.

E.  The therapeutic effect of omeprazole usually lasts less than 6 hours.

4.  A 42 year‑old man suffering from testicular cancer is receiving intensive chemotherapy that includes cisplatin. As a consequence, he is experiencing severe nausea and vomiting. Which of the following is MOST LIKELY to be effective in controlling these side effects?

A. chlorpromazine 

B. dimenhydrinate 

C. granisetron 

D. loperamide 

E. metoclopramide.
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5. Barbiturates, but NOT benzodiazepines

A.  selectively depress the reticular activating system (RAS).

B.  are general central nervous system (CNS) depressants.

C.  can be safely ingested with alcohol.

D.  are generally anticonvulsant.

E.  produce centrally mediated muscle relaxation.

6. Which statement concerning Parkinson's disease is TRUE?

A.
When 30% of the nigrostriatal dopamine neurons degenerate, the symptoms of Parkinson's disease appear.

B.
A patient on l‑dopa therapy should be co‑administered an antipsychotic (such as halopendol) to prevent hallucinations and delusions.

C.
Relief from the symptoms of Parkinson's disease results from stimulation by dopamine of D‑2 receptors in the mesolimbic system.

D.
A patient on l‑dopa therapy who has coronary artery disease should NOT be co‑administered propranoloL

E.
The co‑administration of bromocriptine with 1‑dopa can substantially reduce the incidence of the "on‑off" phenomenon.

7. Ethanol causes all of the following EXCEPT
A.  an increase in the plasma levels of catecholamines and their metabolites.

B.  teratogenic effects.

C.  diuresis.

D.  potentiation of the effects of GABA on neurons.

E.  activation of NMDA receptors on neurons.

8. Which of the following anti‑epileptic drugs causes a high incidence of aplastic anemia?

A.  felbamate

B. valproate

C. phenytoin

D. progabide

(NO fifth choice is offered for this question.)

9. Which statement concerning antiasthmatic therapy is FALSE?

A.   Zileutin is a 5‑lipoxygenase inhibitor.

B.  Theophylline has immunomodulatory effects.

C.  Chronic use of cromolyn may potentiate bronchial hyperactivity.

D.
Corticosteroids may potentiate the effects of P‑adrenergic agonists and block the production ofpro‑inflammatory cytokines.

E.  Ipratropium may be used in combination with albuterol for the treatment of acute asthma.
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10.  Which statement concerning the actions of buspirone is FALSE?

A. It has lower abuse liability than barbiturates. 

B. It does not potentiate the effects of ethanol. 

C. It is a partial agonist at the 5HTIA receptor. 

D. It is a more effective hypnotic than most benzodiazepines. 

E. It produces little or no respiratory depression.

11.
Which of the following drugs has NOT been reported to be an effective treatment for chronic pain when used either alone or as an adjunct to treatment with an opiate drug or non‑steroidal anti‑inflammatory drug?

A. hexamethonium

B.  amitryptiline

C.  gabapentin

D.  clonidine

E.  dextromethorphan

12.
A 35 year‑old man is diagnosed with major (unipolar) depression and is started on medication. Two weeks later, his wife brings him back to the physician for follow‑up. He is restless and reports an incredible surge of energy. She says he has not slept for two days. The medication prescribed was MOST LIKELY
A. valproic 

B.  lithium

C.  buspirone

D.  desipramine

E.  diazepam

13.
The many well‑established health risks associated with the life of an intravenous heroin addict in the USA include all of the following EXCEPT

A.  nephrotoxicity

B.  HIV infection

C.  endocarditis

D.  hepatitis

E.  embolism

14.  Which statement concerning serotonin receptors is FALSE?

A. They may be activated by sumatriptan. 

B. They may be ion channels. 

C. They can be targeted to treat schizophrenia. 

D. They may be targeted by anti‑emetics. 

E. They are targeted by current treatments of impotence.
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15. An 80 year‑old woman suffering from insomnia is told by her physician to take a flurazepam

tablet each night before going to bed. After 3 nights, she calls the doctor to complain that she

is sleeping all night and most of the day as well. The MOST LIKELY reason for this is

A.
elderly people metabolize flurazepam to active metabolites much more rapidly than do young people.

B.
metabolism of benzodiazepines and their active metabolites is slower in the elderly than in young people.

C.  she had an allergic reaction to the flurazepam.

D.  she is taking the flurazepam with several ounces of strong liquor.

E.  flurazepam has a very long half‑life.

16. Which of the following anti‑epileptic drugs has minimal interactions with other drugs?

A. phenytom

B. phenobarbital

C. topiramate

D. gabapentin

(NO fifth choice is offered for this question.)

17. Your concern about giving cimetidine OR famotidme to your patient includes the potential

side‑effects and drug interactions of these agents. Which of the following is CORRECT?

A.  Famotidme, as opposed to cimetidine, never causes headaches.

B.
The prolonged, complete suppression of gastric acid by famotidine might cause bacterial colonization and cancer of the stomach.

C.
Cimetidine, but not famotidine, prolongs the half‑life of several drugs by inhibiting cytochrome P450.

D.
The reduction of gastric acid secretion by cimetidine might induce a significant, compensatory shift in blood pH.

E.  Famotidine has a significant effect on the metabolism of phenobarbital.

18. A 38 year‑old woman returns from a vacation with traveler's diarrhea. Which of the

following agents could be used to treat her symptoms?

A.  cisparide

B.  chlorpromazine

C.  diphenoxylate

D.  ondansetron

E.  senna

19. One reason methadone is an effective drug for the maintenance therapy of heroin addicts is

A.
its half‑life is long enough to suppress the occurrence of withdrawal symptoms in dependent subjects when given orally at 24 hour intervals.

B.  it is more potent than heroin.

C.  it produces no respiratory depression.

D.
it antagonizes the acute actions of morphine or heroin by acting as a competitive antagonist at mu‑type opioid receptors.

E.  it is a short‑actingdrug.
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20.Which statement about the enzyme, nitric oxide synthase (NOS), is FALSE?

A. It uses the amino acid, alanine, as a substrate.

B. It can be activated within endothelial cells by acetyicholine binding to its cell‑surface receptor.

C. It produces the amino
citruilme, as part of its reaction.

D. Its synthesis may be induced in certain cells by cytokines.

E. It may be activated by increased intracellular calcium concentration.

21.
Selective serotonm reuptake inhibitors (SSRIs) are replacing tricyclic antidepressants and monoamine oxidase inhibitors because they

A. improve libido and sexual function in all patients. 

B. produce a permanent reversal of depression.

C. inhibit metabolism of tyrarnine in the 

D. do not produce seizures after overdose
E. produce little or no antimuscarinic side effects.

22. Which statement concerning anti‑inflammatory drugs is CORRECT?

A. Both ibuprofen and celecoxib relieve arthritic pain. 

B. Ibuprofen is less toxic to the gastric mucosa than celecoxib. 

C. The half‑life of naproxen is shorter than that of ibuprofen. 

D. Acetaminophen is a very potent selective inhibitor of COX‑2. 

E. Salicylate is a very potent activator of the transcription factor, NF‑KB.

23.Which drug is NOT used in the treatment of motion sickness?

	A

.
	dimenhydrinate

	B

.
	meclizine

	C

.
	scopolamine

	D

.
	astemizole

	E

.
	promethazine


24. Lithium

A. improves both manic and depressive phases of bipolar disorder.

B. is more useful in unipolar than in bipolar disorder.

C. must be used in conjunction with a selective serotonm re‑uptake inhibitor or tricyclic antidepressant.

D. is effective during manic episodes, but not during depressive episodes of bipolar disorder.

E. has been replaced by valproic acid and carbamazepine.

FIVE CHOICE COMPLETION
PHARMACOLOGY 

PHO200I
Examination #2

Directions: Select the SINGLE best choice.
19 February 1999 


Page 6

25.Which of the following anti‑epileptic drugs is INEFFECTIVE in the maximal electro‑

shock (MES) test?

A. phenytoin

B. ethosuximide

C. topiramate

D. priniidone

(NO fifth choice is offered for this question.)

26.
A young man in the emergency room is unconscious, ataxic, hypothermic, and his skin is cold and sweaty. His pupils are constricted but react to light. MOST LIKELY he has taken an overdose of a

A. barbiturate; start intravenous fluids and gastric lavage, and maintain respiration. 

B. barbiturate; give a low dose of picrotoxin to wake him up. 

C. monoamine oxidase inhibitor; give 2 glasses of red wine. 

D. monoamine oxidase inhibitor; give an a‑adrenergic antagonist to lower blood pressure. 

E. tricyclic antidepressant; give diazepam to prevent development of seizures.

27. THC, the active principal of marijuana,

A. and its metabolites are rapidly excreted from the body

B. is an effective antagonist of 5HTIA receptors. 

C. has no approved therapeutic uses.

D. is accumulated in body lipid stores

E. is not metabolized after oral ingestion.

28. H1 antagonists are NOT effective for treatment of

	A

.
	allergic rhinitis.

	B

.
	chronic urticaria.

	C

.
	motion sickness.

	D

.
	peptic ulcer.

	E

.
	Parkinson's disease.


29. Which of the following anti‑epileptic drugs is NOT metabolized?

A. tiagabine 

B. valproate 

C. gabapentin 

D. phenobarbital (NO fifth choice is offered for this question.)
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30. Which of the following is NOT an effect of methyixanthines?

A. release of intracellular calcium stores

B. stimulation of cardiac muscle

C. bronchodilation

D. activation of cAMP phosphodiesterase

B. antagonism of adenosine receptors

31. Which of the following is a metabolite of morphine in man with potent analgesic activity?

A. heroin

B morphine 6‑glucuronide

C. morphine 3,6 diglucuronide

D. normorphine, the product of N‑demethylation of morphine

E. codeine

codeine
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LETTERED heading that is most closely related to it.


A. amantadine

B. benztropine

C. carbidopa

D. selegiline

E. bromocriptme

32.
This compound prevents dopamine oxidation in the brain but does not cause catecholamine build‑up in the peripheral tissue.

33.
This antiviral drug can act as a dopamine‑releasing agent, making it effective in the initial treatment of Parkinson's disease.

A. haloperidol

B. clozapine

C. diphenhydramine

D. chlorpromazine

E. risperidone

34.
This compound is often used to relieve the acute dystonia that occasionally occurs following the administration of a large dose of an antipsychotic.

35.
This antipsychotic does not cause acute dystonia or tardive dyskinesia, but occasionally does cause agranulocytosis.

A. metabotropic excitatory amino acid receptor

B. non‑NMDA excitatory amino acid receptor

C. NMDA receptor

D. GABAA receptor

B. GABAB receptor

36.
This G protein‑linked receptor can be activated by baclofen.

37.
This receptor is inhibited by phencycidine (PCP).

A. methylphenidate

B. mescaline

C. meperidine

D. misoprostol

E. meclizine

38.
A natural agent with hallucinatory activity.

39.
A prostaglandin analog used to reduce toxic effects of high dose aspirin treatment.

40.
Used in the treatment of attention deficit/hyperactivity disorder (ADHD).
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